PN
up=l
oo
System

Products

EXHA

Industrial

RERA
Experi-
mental

FEEE
AF=
Manual
Stage

[EIL

Rotation

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY
XeXY

[EIL

Rotation

A R)L
(T=#)
Swivel
(Tilt)
734
XUk
27—
XYe
Bz
AF=
Vacuum
Stage

HIHEE
Control
Electron-
ics

==
avhk0-5
Motor
Controller
RS54\
Ry IR
Driver

Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

T-9—
T=I

Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

K-018

BEAAAN (A=F) A57—2/ T—=TIYL X T70X70

SA07A-R2TO1
SA07A-R2MO1

@ SA07A-R2TO1

4-M3 Depth 4mm
4-M3 Depth 6mm
4-M4 Depth 5mm

SA07A-R2BO1

CCW Limit Sensor
Home Position
CW Limit Sensor

Motorized Swivel (Tilt) Stages / Table Size 70X 70

SA07A-R2S01
SA07A-R2LO1

KEHROIAR Y Z—T—TIOREIE. EPERBVFET. £AEIFFRIFI0mmELYET,
*The length of the connector cable in the image is different from the actual one. The bending radius is 40mm.

iof (200) =
< o = ‘ | i o]l 1 =
| ) s o T o Back Side
0 i + I B — | L
Blolololo [ Il = H
SR O S| ™ [ [ H=iH e o
H s I ] o (] L Nl
s ——° [
£ 0 E
P y
0 30 < .5
k=] 20 Depth 4mm, 40 ¢ 4H8 Depth 4mm
60
(12) 70 (74)
(156) @ SA07A-R2BO1
|
Rotation Center 1 ﬁ Rotation Center Rotation Center
I
|
R cw cew !
~_| 5 © | o
o cw ! cew q
— v —_
8 SRR 2t E } o cw cow
N B Bl = | i et} N~
© ® S @ ] 5 ™)
4for M4 screws 60 o) « A5 e = | @
Shaft length 4mm 19| i - T o 9w o
4-for M4 screws 60 ) & mufwﬁ“ " er " u%;‘# [T =
Shaft length 4mm © i =
° SA07A-R2S01 4-for M4 screws [Je0 )
Shaft length 4mm 2
)
S
9‘,
‘ \
4-M3 Depth 4mm — =E
— 4-M3 Depth 6mm Back Side
E 4-M4 Depth 5mm Depth 4mm 1
olm_le gl °] el |
= [ |
— ol (200)
© = |
& ., | A i I =1
L B T %
olo|olo ] EeTH E
~|O|F|® Bl [ HeiHe ﬂ
o o
> = B
1 T TT ki
30 4-for M4 screws
9 Shaft length 4mm
g 40 ¢ 4H8 Depth 4mnf |.20.|
60
(15) 70 (74)
(159)
@ SA07A-R2L01
Rotation Center Rotation Center
14 cw cew
~_1 = s
® Sxdm @
© 0 \ T
D Il A
© Bl Ble © T
o o [@\P)@) ol N —=
— ©
[0) 3
W)
o
©

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181

[E-mail] e-sale@kohzu.co.jp [URL]

www.kohzuprecision.com




IV //aZAQ—JhH1 K/ K=z EE@

Aluminum Body / Cross-Roller Guide / Ball Screw

X

Model SAO7A-R2TO1 SAO7A-R2MO1 SAO7A-R2BO1 SAO7A-R2S01 %1 SAOTA-R2LO1 %2
iZESARYIE
Mior e R SAO7A-R2TO1-R SAO7A-R2MO1-R SAO7A-R2BO1-R | SAO7A-R2SO1-RRR = SAO7A-R2LO1-RRR
ey
Table Size 70mm>70mm
ESAY T BZRy/OZAO0—FHAR
Guide Mechanism Cross-Roller Guide
ESEE . . . +5°(R2T01), +4.5° (R2MO1),
Angular Range +5 e . +£4.5° (R2MO1) +4°(R2B01)
EYHR AR—=ILE, U—RK1.0mm
Lead Mechanism Ball Screw, Lead 1.0mm
TWIN=—7 A9 T | . AN . N . . [~ 0.000756°/0.000378'(R2TO1), [~ 0.000564"/0.000282' (R2HIO1),
PR, | Fl/Half Step ~0.000756°/0.000378° ~ 0.000564°/0.000282° | ~ 0.000448°/0.000224° |, y0564+/0,000282° (R2MO1) |~ 0.000448"/0.000224° (R2B01)
Resolution | v4OA7v7(1/2098) | _ . N . N . |~00000378° (R2TO1),|~ 0.0000282° (R2MO1),
Micro Step (/20 div) |~ 0-0000378 ~0.0000282 ~0.0000224° | 5 0000282° (R2MO1) | ~ 0.0000224° (R2B01)
BRERE 11.3°/sec : Half o . o . 11.3°/sec(R2T01), 8.57/sec(R2MO1),
M mlnlopeed 30kpps 8.57/sec : Half 30kpps|6.7°/sec : Half 30kPDS| g c./cc mono1): Half 30kops | 6.7*/sec(R2BO1): Half 30kpps

T—JTAAEVA
Work Distance

70mm=0.2mm

96mm=0.2mm

122mm=0.2mm

70mm=0.4mm

96mm=0.4mm

EERRORAE

Rotati $0.05mm/+5° $0.05mm/+4.5° $0.05mm/+4° ®0.1mm/+4.5° ®0.1mm/+4°
otation Center Error
**’i‘;lf;fﬁf’i <0.001° (AVE. +0.0001°) | S+0.001°(AVE. 20.0001°) | S£0.001°(AVE. £0.0001°) <+0.001° <+0.001°
Di)I;:EM_o;i/cj/ =0.003° (AVE. 0.0006°) | =0.003°(AVE. 0.0004°) | =0.003°(AVE. 0.0002°) =0.003° =0.003°
/“;Z:Z;Zrl =0.003°(AVE. 0.0006°) | =0.003°(AVE. 0.0004°) | =0.003°(AVE. 0.0003°) =0.003° =0.003°
E—XUMAME 0.06 arcsec/N-cm 0.06 arcsec/N-cm 0.06 arcsec/N-cm . .
Moment Load Stiffness (AVE. 0.036 arcsec/N-cm) | (AVE. 0.037 arcsec/N-cm) | (AVE. 0,038 arcsec/N-cm) | -39 @rcsec/N-em | 0.35 arcsec/N-om
KM=
Load Capacity (Horizontal) 49N (5kgf) 42.1N (4.3kef)
ME T7IIAE
Material Aluminum Alloy
S8 Bt b
Finish Clear-Matt Anodizing
BE
Weight 0.66kg 1.32kg

SHATFYEYVTE—R—
5 Phase Stepper Motor

%7 PK523HPMB (A I &I E—&—: EI&E7R 0.75A/H, EAZXT Y7 0.36°, U—RNREAK)
) PK523HPMB (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.36°, 5-Leads)

E—X—#E d5mm AT 3> \URIL A type
Motor Shaft Diameter d5mm Conformance option handle: A type
mE e 208> (EO+&: RP13A-12JG-20PC)
Connector 20Pin Round (Hirose: RP13A-12JG-20PC)
AT —IREREAT
Stage Wiring Type e V3
TP ERBR F-116(HOME,LIMIT), B§Fi&(Y: F-116R(HOME,LIMIT)

Sensor Model

F-116(HOME,LIMIT), Mirror Model: F-116R(HOME,LIMIT)

) —=>0") ZEHREE

Clean Room Lubricant Model Number

SAO07A-R2T01-C

SA07A-R2MO1-C

SA07A-R2B01-C

SA07A-R2S01-C

SAO07A-R2LO1-C

P Sun ity

Vacuum Lubricant Model Number

SAO07A-R2T0O1-V

SA07A-R2MO1-V

SA07A-R2B0O1-V

SA07A-R2S01-V

SAO07A-R2LO1-V

%1
model SAO7A-R2S01.
2

SA07A-R2S01iF. SAO7A-R2TO1 £SAO7A-R2MO1 DHAEHLETT .
Combination of SAO7A-R2T01 and SAO7A-R2MO1 form 2-axes swivel stage

SA07A-R2L01I%. SAO7A-R2MO1£SA07A-R2BO1 DIAEDHETT .

Combination of SAO7A-R2M0O1 and SAO7A-R2BO1 form 2-axes swivel stage

model SAO7A-R2LO1.
%3

Configuration.

o F=N—FR—BIIBEBRAFEENEEA,

TFEL.

Additional parts cost is not included on Overhaul

further information.

O EsmiTTEL.

Clean room lubricant model has “-C” at the end of model number. Page C-005 for

further information.

HZ2J AMHROBRIREIC V" PHEET. FHRICOVTIEIC-005N—-Y%2

BLTTE0L,

Vacuum lubricant model has “-V” at the end of model number. Page C-005 for

further information.

JV=27) AEROBRBIKREIC -C" PRHEET.

BFEN. EROMEBFICDOVTIFK-006N—22B8BLTTREL,
Refer to page K-005 for Information on Standard and Mirror Symmetry

) -2 —HOFHRIC DN TIFC-004N—TZBR UL TTF L,

Page C-004 for further information about motor change.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

FRICOVWTIRIBR=VUZBRL

cost. Refer to page 16 for

SHRICDLTIZC-005X—

%6

AT—DRERFN-TATY T TI>THEIET.
Stage is inspected by half step setting.
AANIAT—IBEDOE—X > MIEIEO—ILBIEE RV ET,
Moment Stiffness of single swivel stage is measured in Roll Direction.
AT —VAERDOFEMIC DOV TIEN-026~N-027 BB L TTF XL,
Refer to page N-026~N-027 for stage wiring connection information.

o7 HORBEED Y FLTOET.

Cut off the edge of motor shaft's output side.

HWIETZE—F—2> bO—=F - FIANZDOVTEN-002X—=TZ BB L TT XL,

Refer to page N-002 for information on corresponding motor controller and driver.

o MIET B E—E—7 —TIUTDVTIEN-014~N-015R=2 BB L TTFEL,

Refer to page N-014~N-015 for information on corresponding motor cable.

o PEROCRLEICKYHMDYEE K ET

We appreciate the product customizing. Contact us for further information.

FURERBETHHVAEDETIN,

7Y IZDONTIRO-00IX—=2 %8R UL TTFEL,

Refer to page 0-001 for information on accessory.

o F723aVNY RILFO-008X—2 BB L TR,

Refer to page 0-008 for information on Option Handle.

o 2HATYEY TE—R—HREEAVET.
2 phase stepper motor is available.

[E-mail] sale@kohzu.co.jp [URL]

www.kohzu.co.jp

AT L
R

System
Products

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

S
25—

Motorized
Stage
X-XY
XeXY

[ElEA

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

K-019



